

## HLS Yorkton Presort Sale - February 25, 2026.

Wednesday, February 25, 2026 -- 10:00 AM

Pre-Sort

This is a live broadcast of a presort sale out of HLS Yorkton, SK. For more information please contact Jeannie at (780)554-4939.

### NOTES...

---

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	504C	5	HFRS	CHAR	554	2769	
2	2	141N	1	STRS	BELLY NUT	733	733	
3	3	E31B	14	STRS	BLACK	863	12080	
4	4	E18B	44	STRS	BLACK	787	34640	
5	5	E25B	45	STRS	BLACK	712	32045	
6	6	E23B	47	STRS	BLACK	643	30212	
7	7	E14B	20	STRS	BLACK	564	11289	
8	8	E16B	15	STRS	BLACK	494	7414	
9	9	E33B	4	STRS	BLACK	439	1755	
10	10	205J	3	STRS	BRITISH	955	2865	
11	11	E36J	3	STRS	BRITISH	836	2508	
12	12	143A	3	STRS	BRITISH BULL	747	2241	
13	13	137J	3	STRS	BRITISH	683	2049	
14	14	135A	3	STRS	BRITISH BULL	638	1915	
15	15	E24Z	4	STRS	BRITISH BULL	548	2191	
16	16	139Z	4	STRS	BRITISH BULL	456	1825	
17	17	E36T	25	STRS	BUCKSKIN	942	23557	
18	18	E32T	34	STRS	BUCKSKIN	855	29057	
19	19	E20T	46	STRS	BUCKSKIN	790	36336	
20	20	E26T	44	STRS	BUCKSKIN	716	31505	
21	21	E23T	19	STRS	BUCKSKIN	648	12313	
22	22	E33T	6	STRS	BUCKSKIN	561	3367	
23	23	E27T	3	STRS	BUCKSKIN	499	1498	
24	24	E22T	1	STRS	BUCKSKIN	397	397	
25	25	E11C	3	STRS	CHAR	885	2656	
26	26	E30C	12	STRS	CHAR	769	9228	
27	27	E15C	15	STRS	CHAR	711	10669	
28	28	E25C	13	STRS	CHAR	644	8376	
29	29	E17C	10	STRS	CHAR	569	5688	
30	30	E34C	7	STRS	CHAR	489	3425	
31	31	135C	2	STRS	CHAR	426	852	
32	32	206U	3	STRS	CROSS BRED	866	2598	
33	33	207U	16	STRS	CROSS BRED	715	11441	
34	34	E15U	10	STRS	CROSS BRED	586	5859	

35	35	E21A	2	STRS	EXOTIC BULLS	970	1939	
36	36	E28Y	2	STRS	EXOTIC X	848	1695	
37	37	E19B	4	STRS	EXOTIC BULLS	834	3338	
38	38	E27Y	10	STRS	EXOTIC X	796	7957	
39	39	205Z	11	STRS	EXOTIC BULL	742	8167	
40	40	E36E	2	STRS	EXOTIC	734	1469	
41	41	E22Y	22	STRS	EXOTIC X	714	15697	
42	42	E13Y	35	STRS	EXOTIC X	641	22436	
43	43	E21Z	14	STRS	EXOTIC BULL	657	9200	
44	44	208X	2	STRS	EXOTIC	591	1182	
45	45	E19Y	27	STRS	EXOTIC X	562	15184	
46	46	E38Z	20	STRS	EXOTIC BULL	550	10991	
47	47	E31Y	15	STRS	EXOTIC X	495	7427	
48	48	207C	4	STRS	EXOTIC	490	1961	
49	49	205L	10	STRS	EXOTIC BULL	466	4660	
50	50	E32Y	5	STRS	EXOTIC X	427	2137	
51	51	143M	1	STRS	EXOTIC	388	388	
52	52	208P	1	STRS	HEREFORD	638	638	
53	53	200H	2	STRS	HIGHLAND X	706	1411	
54	54	E33R	1	STRS	HORNS	1007	1007	
55	55	207R	1	STRS	HORNS	691	691	
56	56	143C	2	STRS	LATE CUT	732	1465	
57	57	200L	1	STRS	LITTLE	360	360	
58	58	207L	3	STRS	LITTLE	344	1032	
59	59	143O	1	STRS	LONGHORN X	618	618	
60	60	E16R	14	STRS	RED ANGUS	711	9953	
61	61	E11R	6	STRS	RED ANGUS	640	3842	
62	62	E17R	9	STRS	RED ANGUS	574	5163	
63	63	E36R	3	STRS	RED ANGUS	504	1513	
64	64	137R	1	STRS	RED ANGUS	392	392	
65	65	E23G	1	STRS	RED/BLK EXOTIC	1139	1139	
66	66	E15X	2	STRS	RED/BLK EXOTIC	1041	2082	
67	67	E38X	21	STRS	RED/BLK EXOTIC	925	19434	
68	68	E34X	44	STRS	RED/BLK EXOTIC	855	37629	
69	69	143L	3	STRS	RED/BLK EXOTIC	749	2248	
70	70	E29X	75	STRS	RED/BLK EXOTIC	786	58957	
71	71	E30X	96	STRS	RED/BLK EXOTIC	720	69147	
72	72	E12X	25	STRS	RED/BLK EXOTIC	644	16101	
73	73	E28X	18	STRS	RED/BLK EXOTIC	573	10306	
74	74	E26X	5	STRS	RED/BLK EXOTIC	491	2455	
75	75	E20X	5	STRS	RED/BLK EXOTIC	412	2060	
76	84	E11S	4	STRS	SPECKLE PARK	761	3044	
77	85	E36S	4	STRS	SPECKLE PARK	638	2552	
78	86	E17S	5	STRS	SPECKLE PARK	573	2864	

79	87	E33S	1	STRS	SPECKLE PARK	485	485
80	88	133S	7	STRS	YEARLING	1052	7363
81	90	304Y	5	STRS	YEARLING	1026	5129
82	91	W60Z	3	STRS	YEARLING	1131	3392
83	92	305	2	STRS	YEARLING	931	1862
84	93	133A	1	STRS	YEARLING	910	910
85	94	507B	10	HFRS	BLACK	816	8157
86	95	505B	20	HFRS	BLACK	711	14222
87	96	503B	14	HFRS	BLACK	641	8980
88	97	501B	20	HFRS	BLACK	566	11318
89	98	509B	18	HFRS	BLACK	497	8953
90	99	W53B	3	HFRS	BLACK	423	1269
91	100	502B	4	HFRS	BLKS/REDS	944	3778
92	101	500B	2	HFRS	BLKS/RDS	837	1674
93	102	506J	7	HFRS	BRITISH	912	6381
94	103	W58K	6	HFRS	BRITISH	790	4740
95	104	W67B	2	HFRS	BRITISH	722	1443
96	105	W70T	1	HFRS	BRITISH	625	625
97	106	401J	1	HFRS	BRITISH	649	649
98	107	W67	20	HFRS	BUCKSKIN	969	19377
99	108	302T	23	HFRS	BUCKSKIN	865	19889
100	109	508K	6	HFRS	BUCKSKIN	902	5414
101	110	300T	26	HFRS	BUCKSKIN	791	20574
102	111	508A	3	HFRS	BUCKSKIN	734	2203
103	112	W57T	16	HFRS	BUCKSKIN	711	11379
104	113	507T	4	HFRS	BUCKSKIN	655	2619
105	114	W55T	4	HFRS	BUCKSKIN	580	2320
106	115	W53W	3	HFRS	BUCKSKIN	511	1533
107	116	W51T	1	HFRS	BUCKSKIN	435	435
108	117	W68C	2	HFRS	CHAR	783	1566
109	118	301C	6	HFRS	CHAR	709	4254
110	119	403C	8	HFRS	CHAR	632	5059
111	120	500C	5	HFRS	CHAR	494	2469
112	121	W67C	11	HFRS	CHAR	398	4376
113	122	W71U	8	HFRS	CROSS BRED	894	7154
114	123	404U	13	HFRS	CROSS BRED	780	10145
115	124	400U	7	HFRS	CROSS BRED	661	4626
116	125	506U	5	HFRS	CROSS BRED	510	2552
117	126	W68Y	2	HFRS	EXOTIC X	919	1838
118	127	409Y	14	HFRS	EXOTIC X	787	11024
119	128	405Y	29	HFRS	EXOTIC X	714	20706
120	129	406Y	33	HFRS	EXOTIC X	635	20957
121	130	W70E	3	HFRS	EXOTIC	607	1822

122	131	402Y	19	HFRS	EXOTIC X	564	10716	
123	132	407Y	17	HFRS	EXOTIC X	485	8248	
124	133	502E	11	HFRS	EXOTIC	473	5200	
125	134	W66Y	6	HFRS	EXOTIC X	433	2598	
126	135	502Y	5	HFRS	EXOTIC X	843	4217	
127	136	141H	2	HFRS	HEIFERETTES	1171	2342	
128	137	W68H	1	HFRS	HEREFORD	659	659	
129	138	W51H	5	HFRS	HEREFORD	541	2706	
130	139	W72L	4	HFRS	LITTLE	346	1385	
131	140	W58P	2	HFRS	PEE WEE	338	676	
132	141	W69R	3	HFRS	RED ANGUS	804	2411	
133	142	W58R	4	HFRS	RED ANGUS	706	2825	
134	143	W61R	8	HFRS	RED ANGUS	646	5167	
135	144	301R	4	HFRS	RED ANGUS	560	2241	
136	145	W64R	3	HFRS	RED ANGUS	494	1481	
137	146	W63R	1	HFRS	RED ANGUS	392	392	
138	147	W65X	3	HFRS	RED/BLK EXOTIC	1019	3056	
139	148	W60X	13	HFRS	RED/BLK EXOTIC	938	12196	
140	149	305X	25	HFRS	RED/BLK EXOTIC	869	21715	
141	150	307X	21	HFRS	RED/BLK EXOTIC	786	16502	
142	151	306X	13	HFRS	RED/BLK EXOTIC	713	9274	
143	152	304X	10	HFRS	RED/BLK EXOTIC	638	6378	
144	153	302X	10	HFRS	RED/BLK EXOTIC	562	5621	
145	154	303X	3	HFRS	RED/BLK EXOTIC	512	1535	
146	155	508R	4	HFRS	REPLACEMENTS	724	2898	
147	164	W72S	2	HFRS	SPECKLE PARK	606	1211	
148	165	W51S	2	HFRS	SPECKLE PARK	501	1002	
149	166	E32E	4	HFRS	YEARLING	1260	5042	
150	167	E13E	10	HFRS	YEARLING	1073	10730	
151	168	E18T	3	HFRS	YEARLING	1081	3243	
152	169	E28Z	2	HFRS	YEARLING	970	1941	
153	170	100Z	2	HFRS	YEARLING	1036	2071	
154	171	E29L	2	HFRS	YEARLING	870	1740	

**Total Head: 1629**

**Lot Detail Information**

---

Sequence #:	<b>1</b>	Lot #:	<b>1</b>
Pen #:	<b>504C</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>554</b>
Color:		Total Weight:	<b>2769</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>2</b>	Lot #:	<b>2</b>
Pen #:	<b>141N</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>733</b>
Color:		Total Weight:	<b>733</b>
Sex:	<b>STRS</b>	Breed:	<b>BELLY NUT</b>

**Lot Detail Information**

---

Sequence #:	<b>3</b>	Lot #:	<b>3</b>
Pen #:	<b>E31B</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>863</b>
Color:		Total Weight:	<b>12080</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>4</b>	Lot #:	<b>4</b>
Pen #:	<b>E18B</b>	Consignor:	
Head:	<b>44</b>	Average Weight:	<b>787</b>
Color:		Total Weight:	<b>34640</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>5</b>	Lot #:	<b>5</b>
Pen #:	<b>E25B</b>	Consignor:	
Head:	<b>45</b>	Average Weight:	<b>712</b>
Color:		Total Weight:	<b>32045</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>6</b>	Lot #:	<b>6</b>
Pen #:	<b>E23B</b>	Consignor:	
Head:	<b>47</b>	Average Weight:	<b>643</b>
Color:		Total Weight:	<b>30212</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>7</b>	Lot #:	<b>7</b>
Pen #:	<b>E14B</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>564</b>
Color:		Total Weight:	<b>11289</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>8</b>	Lot #:	<b>8</b>
-------------	----------	--------	----------

Pen #:	<b>E16B</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>494</b>
Color:		Total Weight:	<b>7414</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>9</b>	Lot #:	<b>9</b>
Pen #:	<b>E33B</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>439</b>
Color:		Total Weight:	<b>1755</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>10</b>	Lot #:	<b>10</b>
Pen #:	<b>205J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>955</b>
Color:		Total Weight:	<b>2865</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

---

**Lot Detail Information**

Sequence #:	<b>11</b>	Lot #:	<b>11</b>
Pen #:	<b>E36J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>836</b>
Color:		Total Weight:	<b>2508</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

---

**Lot Detail Information**

Sequence #:	<b>12</b>	Lot #:	<b>12</b>
Pen #:	<b>143A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>747</b>
Color:		Total Weight:	<b>2241</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

---

**Lot Detail Information**

Sequence #:	<b>13</b>	Lot #:	<b>13</b>
Pen #:	<b>137J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>683</b>
Color:		Total Weight:	<b>2049</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

---

**Lot Detail Information**

Sequence #:	<b>14</b>	Lot #:	<b>14</b>
Pen #:	<b>135A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>638</b>
Color:		Total Weight:	<b>1915</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

---

**Lot Detail Information**

Sequence #:	<b>15</b>	Lot #:	<b>15</b>
Pen #:	<b>E24Z</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>548</b>
Color:		Total Weight:	<b>2191</b>

Sex: **STRS** Breed: **BRITISH BULL**

**Lot Detail Information**

---

Sequence #: **16** Lot #: **16**  
Pen #: **139Z** Consignor:  
Head: **4** Average Weight: **456**  
Color: Total Weight: **1825**  
Sex: **STRS** Breed: **BRITISH BULL**

**Lot Detail Information**

---

Sequence #: **17** Lot #: **17**  
Pen #: **E36T** Consignor:  
Head: **25** Average Weight: **942**  
Color: Total Weight: **23557**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **18** Lot #: **18**  
Pen #: **E32T** Consignor:  
Head: **34** Average Weight: **855**  
Color: Total Weight: **29057**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **19** Lot #: **19**  
Pen #: **E20T** Consignor:  
Head: **46** Average Weight: **790**  
Color: Total Weight: **36336**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **20** Lot #: **20**  
Pen #: **E26T** Consignor:  
Head: **44** Average Weight: **716**  
Color: Total Weight: **31505**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **21** Lot #: **21**  
Pen #: **E23T** Consignor:  
Head: **19** Average Weight: **648**  
Color: Total Weight: **12313**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **22** Lot #: **22**  
Pen #: **E33T** Consignor:  
Head: **6** Average Weight: **561**  
Color: Total Weight: **3367**  
Sex: **STRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #:	<b>23</b>	Lot #:	<b>23</b>
Pen #:	<b>E27T</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>499</b>
Color:		Total Weight:	<b>1498</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>24</b>	Lot #:	<b>24</b>
Pen #:	<b>E22T</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>397</b>
Color:		Total Weight:	<b>397</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>25</b>	Lot #:	<b>25</b>
Pen #:	<b>E11C</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>885</b>
Color:		Total Weight:	<b>2656</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>26</b>	Lot #:	<b>26</b>
Pen #:	<b>E30C</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>769</b>
Color:		Total Weight:	<b>9228</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>27</b>	Lot #:	<b>27</b>
Pen #:	<b>E15C</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>10669</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>28</b>	Lot #:	<b>28</b>
Pen #:	<b>E25C</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>644</b>
Color:		Total Weight:	<b>8376</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>29</b>	Lot #:	<b>29</b>
Pen #:	<b>E17C</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>569</b>
Color:		Total Weight:	<b>5688</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>30</b>	Lot #:	<b>30</b>
Pen #:	<b>E34C</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>489</b>

Color: Total Weight: **3425**  
Sex: **STRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **31** Lot #: **31**  
Pen #: **135C** Consignor:  
Head: **2** Average Weight: **426**  
Color: Total Weight: **852**  
Sex: **STRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **32** Lot #: **32**  
Pen #: **206U** Consignor:  
Head: **3** Average Weight: **866**  
Color: Total Weight: **2598**  
Sex: **STRS** Breed: **CROSS BRED**

**Lot Detail Information**

---

Sequence #: **33** Lot #: **33**  
Pen #: **207U** Consignor:  
Head: **16** Average Weight: **715**  
Color: Total Weight: **11441**  
Sex: **STRS** Breed: **CROSS BRED**

**Lot Detail Information**

---

Sequence #: **34** Lot #: **34**  
Pen #: **E15U** Consignor:  
Head: **10** Average Weight: **586**  
Color: Total Weight: **5859**  
Sex: **STRS** Breed: **CROSS BRED**

**Lot Detail Information**

---

Sequence #: **35** Lot #: **35**  
Pen #: **E21A** Consignor:  
Head: **2** Average Weight: **970**  
Color: Total Weight: **1939**  
Sex: **STRS** Breed: **EXOTIC BULLS**

**Lot Detail Information**

---

Sequence #: **36** Lot #: **36**  
Pen #: **E28Y** Consignor:  
Head: **2** Average Weight: **848**  
Color: Total Weight: **1695**  
Sex: **STRS** Breed: **EXOTIC X**

**Lot Detail Information**

---

Sequence #: **37** Lot #: **37**  
Pen #: **E19B** Consignor:  
Head: **4** Average Weight: **834**  
Color: Total Weight: **3338**  
Sex: **STRS** Breed: **EXOTIC BULLS**

**Lot Detail Information**

---

Sequence #:	<b>38</b>	Lot #:	<b>38</b>
Pen #:	<b>E27Y</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>796</b>
Color:		Total Weight:	<b>7957</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>39</b>	Lot #:	<b>39</b>
Pen #:	<b>205Z</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>742</b>
Color:		Total Weight:	<b>8167</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>40</b>	Lot #:	<b>40</b>
Pen #:	<b>E36E</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>734</b>
Color:		Total Weight:	<b>1469</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>41</b>	Lot #:	<b>41</b>
Pen #:	<b>E22Y</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>714</b>
Color:		Total Weight:	<b>15697</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>42</b>	Lot #:	<b>42</b>
Pen #:	<b>E13Y</b>	Consignor:	
Head:	<b>35</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>22436</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>43</b>	Lot #:	<b>43</b>
Pen #:	<b>E21Z</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>657</b>
Color:		Total Weight:	<b>9200</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>44</b>	Lot #:	<b>44</b>
Pen #:	<b>208X</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>591</b>
Color:		Total Weight:	<b>1182</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>45</b>	Lot #:	<b>45</b>
-------------	-----------	--------	-----------

Pen #:	<b>E19Y</b>	Consignor:	
Head:	<b>27</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>15184</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>46</b>	Lot #:	<b>46</b>
Pen #:	<b>E38Z</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>550</b>
Color:		Total Weight:	<b>10991</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

---

**Lot Detail Information**

Sequence #:	<b>47</b>	Lot #:	<b>47</b>
Pen #:	<b>E31Y</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>495</b>
Color:		Total Weight:	<b>7427</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>48</b>	Lot #:	<b>48</b>
Pen #:	<b>207C</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>490</b>
Color:		Total Weight:	<b>1961</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>49</b>	Lot #:	<b>49</b>
Pen #:	<b>205L</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>466</b>
Color:		Total Weight:	<b>4660</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

---

**Lot Detail Information**

Sequence #:	<b>50</b>	Lot #:	<b>50</b>
Pen #:	<b>E32Y</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>427</b>
Color:		Total Weight:	<b>2137</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>51</b>	Lot #:	<b>51</b>
Pen #:	<b>143M</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>388</b>
Color:		Total Weight:	<b>388</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>52</b>	Lot #:	<b>52</b>
Pen #:	<b>208P</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>638</b>
Color:		Total Weight:	<b>638</b>

Sex: **STRS** Breed: **HEREFORD**

**Lot Detail Information**

---

Sequence #: **53** Lot #: **53**  
Pen #: **200H** Consignor:  
Head: **2** Average Weight: **706**  
Color: Total Weight: **1411**  
Sex: **STRS** Breed: **HIGHLAND X**

**Lot Detail Information**

---

Sequence #: **54** Lot #: **54**  
Pen #: **E33R** Consignor:  
Head: **1** Average Weight: **1007**  
Color: Total Weight: **1007**  
Sex: **STRS** Breed: **HORNS**

**Lot Detail Information**

---

Sequence #: **55** Lot #: **55**  
Pen #: **207R** Consignor:  
Head: **1** Average Weight: **691**  
Color: Total Weight: **691**  
Sex: **STRS** Breed: **HORNS**

**Lot Detail Information**

---

Sequence #: **56** Lot #: **56**  
Pen #: **143C** Consignor:  
Head: **2** Average Weight: **732**  
Color: Total Weight: **1465**  
Sex: **STRS** Breed: **LATE CUT**

**Lot Detail Information**

---

Sequence #: **57** Lot #: **57**  
Pen #: **200L** Consignor:  
Head: **1** Average Weight: **360**  
Color: Total Weight: **360**  
Sex: **STRS** Breed: **LITTLE**

**Lot Detail Information**

---

Sequence #: **58** Lot #: **58**  
Pen #: **207L** Consignor:  
Head: **3** Average Weight: **344**  
Color: Total Weight: **1032**  
Sex: **STRS** Breed: **LITTLE**

**Lot Detail Information**

---

Sequence #: **59** Lot #: **59**  
Pen #: **1430** Consignor:  
Head: **1** Average Weight: **618**  
Color: Total Weight: **618**  
Sex: **STRS** Breed: **LONGHORN X**

**Lot Detail Information**

---

Sequence #:	<b>60</b>	Lot #:	<b>60</b>
Pen #:	<b>E16R</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>9953</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>61</b>	Lot #:	<b>61</b>
Pen #:	<b>E11R</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>640</b>
Color:		Total Weight:	<b>3842</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>62</b>	Lot #:	<b>62</b>
Pen #:	<b>E17R</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>574</b>
Color:		Total Weight:	<b>5163</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>63</b>	Lot #:	<b>63</b>
Pen #:	<b>E36R</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>504</b>
Color:		Total Weight:	<b>1513</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>64</b>	Lot #:	<b>64</b>
Pen #:	<b>137R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>392</b>
Color:		Total Weight:	<b>392</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>65</b>	Lot #:	<b>65</b>
Pen #:	<b>E23G</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1139</b>
Color:		Total Weight:	<b>1139</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>66</b>	Lot #:	<b>66</b>
Pen #:	<b>E15X</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>1041</b>
Color:		Total Weight:	<b>2082</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>67</b>	Lot #:	<b>67</b>
Pen #:	<b>E38X</b>	Consignor:	
Head:	<b>21</b>	Average Weight:	<b>925</b>

Color: Total Weight: **19434**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **68** Lot #: **68**  
Pen #: **E34X** Consignor:  
Head: **44** Average Weight: **855**  
Color: Total Weight: **37629**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **69** Lot #: **69**  
Pen #: **143L** Consignor:  
Head: **3** Average Weight: **749**  
Color: Total Weight: **2248**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **70** Lot #: **70**  
Pen #: **E29X** Consignor:  
Head: **75** Average Weight: **786**  
Color: Total Weight: **58957**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **71** Lot #: **71**  
Pen #: **E30X** Consignor:  
Head: **96** Average Weight: **720**  
Color: Total Weight: **69147**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **72** Lot #: **72**  
Pen #: **E12X** Consignor:  
Head: **25** Average Weight: **644**  
Color: Total Weight: **16101**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **73** Lot #: **73**  
Pen #: **E28X** Consignor:  
Head: **18** Average Weight: **573**  
Color: Total Weight: **10306**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **74** Lot #: **74**  
Pen #: **E26X** Consignor:  
Head: **5** Average Weight: **491**  
Color: Total Weight: **2455**  
Sex: **STRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #:	<b>75</b>	Lot #:	<b>75</b>
Pen #:	<b>E20X</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>412</b>
Color:		Total Weight:	<b>2060</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>76</b>	Lot #:	<b>84</b>
Pen #:	<b>E11S</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>761</b>
Color:		Total Weight:	<b>3044</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>77</b>	Lot #:	<b>85</b>
Pen #:	<b>E36S</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>638</b>
Color:		Total Weight:	<b>2552</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>78</b>	Lot #:	<b>86</b>
Pen #:	<b>E17S</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>573</b>
Color:		Total Weight:	<b>2864</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>79</b>	Lot #:	<b>87</b>
Pen #:	<b>E33S</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>485</b>
Color:		Total Weight:	<b>485</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>80</b>	Lot #:	<b>88</b>
Pen #:	<b>133S</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>1052</b>
Color:		Total Weight:	<b>7363</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>81</b>	Lot #:	<b>90</b>
Pen #:	<b>304Y</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>1026</b>
Color:		Total Weight:	<b>5129</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>82</b>	Lot #:	<b>91</b>
-------------	-----------	--------	-----------

Pen #:	<b>W60Z</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1131</b>
Color:		Total Weight:	<b>3392</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

---

**Lot Detail Information**

Sequence #:	<b>83</b>	Lot #:	<b>92</b>
Pen #:	<b>305</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>931</b>
Color:		Total Weight:	<b>1862</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

---

**Lot Detail Information**

Sequence #:	<b>84</b>	Lot #:	<b>93</b>
Pen #:	<b>133A</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>910</b>
Color:		Total Weight:	<b>910</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

---

**Lot Detail Information**

Sequence #:	<b>85</b>	Lot #:	<b>94</b>
Pen #:	<b>507B</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>816</b>
Color:		Total Weight:	<b>8157</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>86</b>	Lot #:	<b>95</b>
Pen #:	<b>505B</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>14222</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>87</b>	Lot #:	<b>96</b>
Pen #:	<b>503B</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>8980</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>88</b>	Lot #:	<b>97</b>
Pen #:	<b>501B</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>566</b>
Color:		Total Weight:	<b>11318</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

---

**Lot Detail Information**

Sequence #:	<b>89</b>	Lot #:	<b>98</b>
Pen #:	<b>509B</b>	Consignor:	
Head:	<b>18</b>	Average Weight:	<b>497</b>
Color:		Total Weight:	<b>8953</b>

Sex: **HFRS** Breed: **BLACK**

**Lot Detail Information**

---

Sequence #: **90** Lot #: **99**  
Pen #: **W53B** Consignor:  
Head: **3** Average Weight: **423**  
Color: Total Weight: **1269**  
Sex: **HFRS** Breed: **BLACK**

**Lot Detail Information**

---

Sequence #: **91** Lot #: **100**  
Pen #: **502B** Consignor:  
Head: **4** Average Weight: **944**  
Color: Total Weight: **3778**  
Sex: **HFRS** Breed: **BLKS/REDS**

**Lot Detail Information**

---

Sequence #: **92** Lot #: **101**  
Pen #: **500B** Consignor:  
Head: **2** Average Weight: **837**  
Color: Total Weight: **1674**  
Sex: **HFRS** Breed: **BLKS/RDS**

**Lot Detail Information**

---

Sequence #: **93** Lot #: **102**  
Pen #: **506J** Consignor:  
Head: **7** Average Weight: **912**  
Color: Total Weight: **6381**  
Sex: **HFRS** Breed: **BRITISH**

**Lot Detail Information**

---

Sequence #: **94** Lot #: **103**  
Pen #: **W58K** Consignor:  
Head: **6** Average Weight: **790**  
Color: Total Weight: **4740**  
Sex: **HFRS** Breed: **BRITISH**

**Lot Detail Information**

---

Sequence #: **95** Lot #: **104**  
Pen #: **W67B** Consignor:  
Head: **2** Average Weight: **722**  
Color: Total Weight: **1443**  
Sex: **HFRS** Breed: **BRITISH**

**Lot Detail Information**

---

Sequence #: **96** Lot #: **105**  
Pen #: **W70T** Consignor:  
Head: **1** Average Weight: **625**  
Color: Total Weight: **625**  
Sex: **HFRS** Breed: **BRITISH**

**Lot Detail Information**

---

Sequence #:	<b>97</b>	Lot #:	<b>106</b>
Pen #:	<b>401J</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>649</b>
Color:		Total Weight:	<b>649</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

---

**Lot Detail Information**

Sequence #:	<b>98</b>	Lot #:	<b>107</b>
Pen #:	<b>W67</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>969</b>
Color:		Total Weight:	<b>19377</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>99</b>	Lot #:	<b>108</b>
Pen #:	<b>302T</b>	Consignor:	
Head:	<b>23</b>	Average Weight:	<b>865</b>
Color:		Total Weight:	<b>19889</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>100</b>	Lot #:	<b>109</b>
Pen #:	<b>508K</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>902</b>
Color:		Total Weight:	<b>5414</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>101</b>	Lot #:	<b>110</b>
Pen #:	<b>300T</b>	Consignor:	
Head:	<b>26</b>	Average Weight:	<b>791</b>
Color:		Total Weight:	<b>20574</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>102</b>	Lot #:	<b>111</b>
Pen #:	<b>508A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>734</b>
Color:		Total Weight:	<b>2203</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>103</b>	Lot #:	<b>112</b>
Pen #:	<b>W57T</b>	Consignor:	
Head:	<b>16</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>11379</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

---

**Lot Detail Information**

Sequence #:	<b>104</b>	Lot #:	<b>113</b>
Pen #:	<b>507T</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>655</b>

Color: Total Weight: **2619**  
Sex: **HFRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **105** Lot #: **114**  
Pen #: **W55T** Consignor:  
Head: **4** Average Weight: **580**  
Color: Total Weight: **2320**  
Sex: **HFRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **106** Lot #: **115**  
Pen #: **W53W** Consignor:  
Head: **3** Average Weight: **511**  
Color: Total Weight: **1533**  
Sex: **HFRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **107** Lot #: **116**  
Pen #: **W51T** Consignor:  
Head: **1** Average Weight: **435**  
Color: Total Weight: **435**  
Sex: **HFRS** Breed: **BUCKSKIN**

**Lot Detail Information**

---

Sequence #: **108** Lot #: **117**  
Pen #: **W68C** Consignor:  
Head: **2** Average Weight: **783**  
Color: Total Weight: **1566**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **109** Lot #: **118**  
Pen #: **301C** Consignor:  
Head: **6** Average Weight: **709**  
Color: Total Weight: **4254**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **110** Lot #: **119**  
Pen #: **403C** Consignor:  
Head: **8** Average Weight: **632**  
Color: Total Weight: **5059**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **111** Lot #: **120**  
Pen #: **500C** Consignor:  
Head: **5** Average Weight: **494**  
Color: Total Weight: **2469**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #:	<b>112</b>	Lot #:	<b>121</b>
Pen #:	<b>W67C</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>398</b>
Color:		Total Weight:	<b>4376</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>113</b>	Lot #:	<b>122</b>
Pen #:	<b>W71U</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>894</b>
Color:		Total Weight:	<b>7154</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>114</b>	Lot #:	<b>123</b>
Pen #:	<b>404U</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>780</b>
Color:		Total Weight:	<b>10145</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>115</b>	Lot #:	<b>124</b>
Pen #:	<b>400U</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>661</b>
Color:		Total Weight:	<b>4626</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>116</b>	Lot #:	<b>125</b>
Pen #:	<b>506U</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>510</b>
Color:		Total Weight:	<b>2552</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>117</b>	Lot #:	<b>126</b>
Pen #:	<b>W68Y</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>919</b>
Color:		Total Weight:	<b>1838</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>118</b>	Lot #:	<b>127</b>
Pen #:	<b>409Y</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>787</b>
Color:		Total Weight:	<b>11024</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>119</b>	Lot #:	<b>128</b>
-------------	------------	--------	------------

Pen #:	<b>405Y</b>	Consignor:	
Head:	<b>29</b>	Average Weight:	<b>714</b>
Color:		Total Weight:	<b>20706</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>120</b>	Lot #:	<b>129</b>
Pen #:	<b>406Y</b>	Consignor:	
Head:	<b>33</b>	Average Weight:	<b>635</b>
Color:		Total Weight:	<b>20957</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>121</b>	Lot #:	<b>130</b>
Pen #:	<b>W70E</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>607</b>
Color:		Total Weight:	<b>1822</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>122</b>	Lot #:	<b>131</b>
Pen #:	<b>402Y</b>	Consignor:	
Head:	<b>19</b>	Average Weight:	<b>564</b>
Color:		Total Weight:	<b>10716</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>123</b>	Lot #:	<b>132</b>
Pen #:	<b>407Y</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>485</b>
Color:		Total Weight:	<b>8248</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>124</b>	Lot #:	<b>133</b>
Pen #:	<b>502E</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>473</b>
Color:		Total Weight:	<b>5200</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>125</b>	Lot #:	<b>134</b>
Pen #:	<b>W66Y</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>433</b>
Color:		Total Weight:	<b>2598</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

---

**Lot Detail Information**

Sequence #:	<b>126</b>	Lot #:	<b>135</b>
Pen #:	<b>502Y</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>843</b>
Color:		Total Weight:	<b>4217</b>

Sex: **HFRS** Breed: **EXOYIC X**

**Lot Detail Information**

---

Sequence #: **127** Lot #: **136**  
Pen #: **141H** Consignor:  
Head: **2** Average Weight: **1171**  
Color: Total Weight: **2342**  
Sex: **HFRS** Breed: **HEIFERETTES**

**Lot Detail Information**

---

Sequence #: **128** Lot #: **137**  
Pen #: **W68H** Consignor:  
Head: **1** Average Weight: **659**  
Color: Total Weight: **659**  
Sex: **HFRS** Breed: **HEREFORD**

**Lot Detail Information**

---

Sequence #: **129** Lot #: **138**  
Pen #: **W51H** Consignor:  
Head: **5** Average Weight: **541**  
Color: Total Weight: **2706**  
Sex: **HFRS** Breed: **HEREFORD**

**Lot Detail Information**

---

Sequence #: **130** Lot #: **139**  
Pen #: **W72L** Consignor:  
Head: **4** Average Weight: **346**  
Color: Total Weight: **1385**  
Sex: **HFRS** Breed: **LITTLE**

**Lot Detail Information**

---

Sequence #: **131** Lot #: **140**  
Pen #: **W58P** Consignor:  
Head: **2** Average Weight: **338**  
Color: Total Weight: **676**  
Sex: **HFRS** Breed: **PEE WEE**

**Lot Detail Information**

---

Sequence #: **132** Lot #: **141**  
Pen #: **W69R** Consignor:  
Head: **3** Average Weight: **804**  
Color: Total Weight: **2411**  
Sex: **HFRS** Breed: **RED ANGUS**

**Lot Detail Information**

---

Sequence #: **133** Lot #: **142**  
Pen #: **W58R** Consignor:  
Head: **4** Average Weight: **706**  
Color: Total Weight: **2825**  
Sex: **HFRS** Breed: **RED ANGUS**

**Lot Detail Information**

---

Sequence #:	<b>134</b>	Lot #:	<b>143</b>
Pen #:	<b>W61R</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>5167</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>135</b>	Lot #:	<b>144</b>
Pen #:	<b>301R</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>2241</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>136</b>	Lot #:	<b>145</b>
Pen #:	<b>W64R</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>494</b>
Color:		Total Weight:	<b>1481</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>137</b>	Lot #:	<b>146</b>
Pen #:	<b>W63R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>392</b>
Color:		Total Weight:	<b>392</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

---

**Lot Detail Information**

Sequence #:	<b>138</b>	Lot #:	<b>147</b>
Pen #:	<b>W65X</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1019</b>
Color:		Total Weight:	<b>3056</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>139</b>	Lot #:	<b>148</b>
Pen #:	<b>W60X</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>938</b>
Color:		Total Weight:	<b>12196</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>140</b>	Lot #:	<b>149</b>
Pen #:	<b>305X</b>	Consignor:	
Head:	<b>25</b>	Average Weight:	<b>869</b>
Color:		Total Weight:	<b>21715</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

---

**Lot Detail Information**

Sequence #:	<b>141</b>	Lot #:	<b>150</b>
Pen #:	<b>307X</b>	Consignor:	
Head:	<b>21</b>	Average Weight:	<b>786</b>

Color: Total Weight: **16502**  
Sex: **HFRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **142** Lot #: **151**  
Pen #: **306X** Consignor:  
Head: **13** Average Weight: **713**  
Color: Total Weight: **9274**  
Sex: **HFRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **143** Lot #: **152**  
Pen #: **304X** Consignor:  
Head: **10** Average Weight: **638**  
Color: Total Weight: **6378**  
Sex: **HFRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **144** Lot #: **153**  
Pen #: **302X** Consignor:  
Head: **10** Average Weight: **562**  
Color: Total Weight: **5621**  
Sex: **HFRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **145** Lot #: **154**  
Pen #: **303X** Consignor:  
Head: **3** Average Weight: **512**  
Color: Total Weight: **1535**  
Sex: **HFRS** Breed: **RED/BLK EXOTIC**

**Lot Detail Information**

---

Sequence #: **146** Lot #: **155**  
Pen #: **508R** Consignor:  
Head: **4** Average Weight: **724**  
Color: Total Weight: **2898**  
Sex: **HFRS** Breed: **REPLACEMENTS**

**Lot Detail Information**

---

Sequence #: **147** Lot #: **164**  
Pen #: **W72S** Consignor:  
Head: **2** Average Weight: **606**  
Color: Total Weight: **1211**  
Sex: **HFRS** Breed: **SPECKLE PARK**

**Lot Detail Information**

---

Sequence #: **148** Lot #: **165**  
Pen #: **W51S** Consignor:  
Head: **2** Average Weight: **501**  
Color: Total Weight: **1002**  
Sex: **HFRS** Breed: **SPECKLE PARK**

**Lot Detail Information**

---

Sequence #:	<b>149</b>	Lot #:	<b>166</b>
Pen #:	<b>E32E</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>1260</b>
Color:		Total Weight:	<b>5042</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>150</b>	Lot #:	<b>167</b>
Pen #:	<b>E13E</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>1073</b>
Color:		Total Weight:	<b>10730</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>151</b>	Lot #:	<b>168</b>
Pen #:	<b>E18T</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1081</b>
Color:		Total Weight:	<b>3243</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>152</b>	Lot #:	<b>169</b>
Pen #:	<b>E28Z</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>970</b>
Color:		Total Weight:	<b>1941</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>153</b>	Lot #:	<b>170</b>
Pen #:	<b>100Z</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>1036</b>
Color:		Total Weight:	<b>2071</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>154</b>	Lot #:	<b>171</b>
Pen #:	<b>E29L</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>870</b>
Color:		Total Weight:	<b>1740</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>